SIH6EE = HREUAR)

HEAR | ZHRS FHAS ZHEEE(H)
4818 B IF{TCATZ7I)—a H—bk 6,600
4848 FE TARKREECHESTH 10,000
4858 B BEUMNERERERSS 5,000
486H B ZHETHAX—/FO—ILFT+FELRRS 2,310

4810H FE miBSHEEHAETH 5,000
4811H =& JtiEEB & G ¥t A —ERBESREBES 5,000
4815H FE HBEHREIMETH 5,000
4818H E=-1 LH BREXRRDETHRESBES 4,000
48208 HH LHEMREMBEFTFERLARELS 2,310
48208 B BREEEL S —THRS 2,310
48228 B REEISEEHNBRERS 2,390
48228 E=-1 AEEISENEEMRESEER 5,000
48230 E=-1 LFETHRSESSREBES 4,500
48258 E=- 1 AETREZEREREERBESENRIEERER 5,000
48258 E=-1 LEF VO EABTRARFEESKREBERES 3,000
4826H B REREHERE 2,310
48268 B ELE R EKRH 4,000
SF64E4H 2 /Mat 73,730
FHXS i T HE&EE (M)
AREXEE 0 0
=& 6 26,500
B 8 27,230
FE 3 20,000

- 0 0

RESR 0 0

femE 0 0

=Rk 0 0
2R 0 0
=1 17 73,730




SIH6EE = HARBEGAHR)

HEAR | ZHRS FHAS ZHEEE(H)
587H B L2ENRBERRUVERELEE 7,040
5H8H E=-1 LETEANISTEEESRERDEBES 5,000
598 fE=sRE |MRURFLIE 10,340
5810H =& HAEIE - RREARKEEIA—S LY BRES 4,400
5810H =31 BEFL YRR S 3,000
5H13H BE LEETIHEREECHETH 10,000
5814H =& LEHERBREBEESSEHRRE 4,000
5815H =& LETIAREREYR—rSTHEIRTELHRE. BREE 5,000
5815H B REEISEERE 2,200
5H16H B LEMXRERKSBNIOEAERSEETVICRES 10,000
58178 HH LETHHERFESTCHRS 2,860
582180 E=-1 LEMHEEAREERHRS 5,000
5H22H B BEBRESEHIRE 2,860
58230 E=- 1 EEEMBEESFIRERESRUKRES 6,000
5H23H B REFASBDBEXIAMEHRS 2,860
5H24H =& EEYOTFIRNEFRIORET ) TA— DA IN—T 14— 4,000
58250 E=-1 AEBAEEAZEREF - tREAERESTE 4,000
5H25H B ALIREEERT 55SENELN 10,000
5828H =31 bEE AR EERDESTHRSERRERE 7,000
5H28H B HIMARESHBHRESRE 5,720
58308 =& L2EEEEEDESERES -BHRE 5,000
58308 | HE-EE |2024FEFKBELIERFNXTELEBEETREES HES 5,000
58308 | B8 - B |BLATRNTEDIYHE 10,000
5H30H| item¥E |RBEMHESDFEEICDOLT(E54H) 199,500
5H30H EMW REHAE 2,750
5831H =& HIMAREHENRSEHRIBRS 8,000

SF64E5H /et 341,530

FHXD i T HE&EE (M)

BREXEE 0 0
=& 12 60,400
B 9 46,290
FE 1 10,000

e - B 2 15,000

RESR 0 0

femE 36 209,840

IEIbEY)] 0 0

2R 0 0
=1 60 341,530




SIH6EE = HAREGHR)

XHEABR | ZHES FHRNE £ (H)
68 1H B LERNBERENER 5,000
6H6H E=-1 PHRBENAK BREAEGABRANE) ZERES 7,000
68 7H =& ERILTIERELFFIAVTAMO—RABFEELES 4,000
6H13H =& BEMEATERERILDBER 3,500
6H14H =& EREISEMEXHENEERRE 7,000
6H14H B KIEXET ARG S S 2,145
6H16H =& SONABEEDYITHAISHEUERGFBFEDRKRRE 3,000
6H17H| £FE |[mEARK 16,500
68218 =& £ETEAKRZESRERHRE 3,000
68218 =& LEMEHEZESTHRE 4,000
68228 =& 2EN—TYIVIRHEE 8,000
68228 EW HBEANESEY 2,592
6H23H B FoMME RIS+ EHEAE- BBttt ZAER TS 10,000
6H28H B BISEMFEIORBEEERIBRE 2,860
68290 F=y BRIB)I AR AARSBE1I8SAERSITE 6,000
6H29H = E2H B BRNMEZENRES 10,000

SFn6E6 80Nt 94,597

FHXS i T HE&EE (M)

AREXEE 0 0
=& 10 55,500
B 5 22,597
FE 0 0

e - B 0 0

RESR 0 0

femE 0 0

IElREY 0 0

2 RE 1 16.500
BEt 16 94,597




